A & 0l & A
20199 & = 3 3| JIEISEEH M (el &)
2Ok 22 - IBAY - SRAAH (S H) Ol &k o J &3 oA HwE2 pa—
sSAS
& 3 97,496,630 97,585,081 £88,451|  A0.09%
X B ALY 82,208,238 82,236,844 ~28,606|  A0.03%
Mess 15,000,772 15,060,772 £A60,000|  A0.40%
#He P 287,620 287,465 155 0.05%
HH2S 37,769,338 38,579,764 AB810,426|  A2.10%
N 18,787,174 18,815,675 ~28,501|  ~0.15%
SEANLSLIH 29 165,910 165,910 0 0.00%
S2ENASHSIH 2SS (FRNLSH3H) 165,910 165,910 0 0.00%
Xatrsgsiey 3,712,487 3,740,988 ~28,501|  A0.76%
Xot+SEsHSY (Nt 4+ S H ) (Xot+S 3,712,487 3,740,988 ~28,501|  A0.76%
=31 H)
Wegs(+2eF) 14,908,777 14,908,777 0 0.00%
WEHHX S (FRHLSLE3IH) 14,908,777 14,908,777 0 0.00%
W Es (5t ) 0 0 0 0.00%
R HRHXI & (Xt 4S5 H ) (X 5t+SE sl 0 0 0 0.00%
)
BOIS 18,982, 164 19,764,089 AT781,925|  A3.96%
HOIZH2AMNEALSLH 2 18,982, 164 19,764,089 781,925  ~A3.96%
HOISM2ALALSESH 2S(HOI2H2 18,982, 164 19,764,089 A781,925|  A3.96%
ANEAS S5 H )
INEEEPN 6,752,817 5,897,125 855,692 14.51%
I EMEEE 66,995 126,995 AB0,000| A47.25%
WP ss (MEtE ) 66,995 126,995 A60,000|  A47.25%
BENE(ABZ0INSTESLIIA) 66,995 126,995 AB0,000| A47.25%
FHHES K 6,685,822 5,770,130 915,692 15.87%
23Nl ELSHsN 2 6,685,822 5,770,130 915,692 15.87%
ABZOINISEHSLIN SH(ABS0II2 6,685,822 5,770,130 915,692 15.87%
P
+5YNE 48,301,367 48,459, 166 A157,799 | £0.33%
CANEE 48,301,367 48,459, 166 A157,799|  A0.33%
SANEEAY SEs 2d 48,301,367 48,459, 166 A157,799 | A0.33%
SANEZANY SE3H SS(TABZAYSY 48,301,367 48,459, 166 A157,799|  A0.33%
313)
FEYT AN 4,385,488 4,361,561 23,927 0.55%
X = Al 4,385,488 4,361,561 23,927 0.55%
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